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o JitE: T (t,x).
VMG 2(to) = zo-

HME MBI o(t, to, z0).

o Hil: WMEM B = x,2(tg) = zo BIENx(t, o, 20) = woe'to.
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o EH B f(t,r) EXIMGAESL:, HKXT L)@ Lipschitz4
o Fa =) RIABEK—AW, o, b]2EIAFFEX 8] 4R —
TIXME, WALES > 0, H(to, zo) BUAE XK

R: to € [aab]a |:L'0 - ¢(t0)| <é

B, WHME R B ME— e = (L, to, o) BDTE[a, b] EAEX, FF
HAE Pk

V. te [a,b], to € [a,b], |$0—¢(t0)’§5
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(i) FE—AUMLZEr = () AP ORHEXIRR, MYME (to, z0) BUFE
XA, f#o(t, to, o) BV [a, ) LAFAE, H
fif#x = o(t, to, x0)TEL € [a,b], (to, z0) € RER=ITTHELLRHL.

(i) Wz = o(t,to, To)1E[a, b)) EAFFE, XHE—BAMh ke = o(t, 10, T0) N
b e WX, —EFAEUMZs = o(t, T, To) AL O
TEX IR, 4046 5 (o, wo ) BRAEIX AN 07 B X 3T,
itz = @(t, to, zo) N e WX K.

HEEH:

|(,0(t,t0,$0) - @(tafo750)| = |80(t,t0,1130) - @(tvtOﬂD(th%O?jO)” <e€
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o W1 Wf(t,x)FEGHNESLE, HKT Wi FELipschitz4cfF.
Fifke = o(t, o, To)fE[a, b] LA RE S, WH(to, 20) 5 (To, To) FEIT5E
R, Rz = o(t, to, o) EDTE[e, b] ETE X, FHH
Xft € [a, b]—BUHLRAT

lim SO(t,t(),.’IJQ) = Qp(t7EO7§0)-

(to,z0)—(t0,T0)
(H(to, x0) 5 (T, To) TR (to, z0) 5 (to, ¢(to, to, To)) T (I,
KD )
o WIMHEENUT, XFPV KRt EIT.
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o HER2 W f(t,n)EGNES:, HX T2 )FmBLipschitz%&fF.
WA MR = o(t, to, mo)ERL, to, v B EREAE & A LETE B A
TS

QO(t, to, 33'0) - SD(%’ gO’IO) = QO(t, to, .CL'()) - QO(E, to, QL'())
+90(¥a tO) ‘TO) - @(fa EO,EO).
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(1) FFAEG, > 0F850/0, (13 AR
U: telabl, |z—ut)]<d
EFGW, Hf(t,z)7EU L% & LipschitzZ 14
JRA: B ihge = (1) RGHA ML, FIHHRE & B e

TG, f(t, »)7EH L3 2 Lipschitz4cff, cLipschitz#
AN, BiRTERBUFHRU C Gy.
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(1) BS > 0ffis < e Nb=a)g,,
PSSR I T8 0, (¢, to, 7o), MEHAEV E—Bukesk, HARR
BB p(t, to, 20)» TR, to, z0)FEV LIS,
B 5

wo(t,to, xo) = w0 — Y (to) + (1),

t

(Pk(tvt()ax()) = 2o + f(SaSOk—l(SatO»fEO))ds-
to
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mﬂﬁﬁﬁlﬁ‘]/ﬁﬂ (t, to, xo) € V;ﬁ

(i) (t, or(t, to, 20)) € U.
(i) @k (t,to, z0)TEV LIESE

Nk+1|t _ t0|k+1
— Y(to)|-
*k+ 1) |z — (o)

T Ron(t, to, vo) EEV E—Blesh, HWREREe = o(t) R TTHE
I, AT RVME B R, BHEKME— R o) = ¢t to, 20)»
ot to, vo)FEV LIE

WEBH G) o, G 1 Gii) HIEghEE.

(iii) ort1(t,to, zo) — @r(t, to, zo)| <
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(a) k= o0mt, (i),(ii), (i) BL.
(b) &k <m — 18, (i),(ii), (i) BSL, FiEk = mi, (i), (i), (iii)
GINS YA
lom (t, to, m0) — ()] < 27511 [en(t to, o) — r—1(t, to, o)

+|zo — ¥(to)|
< eNVlt=tol|zg — p(tg)| < eNl—al§ < 63
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o TR
d—x = f(t,x, )

dt
YHEMR (L, to, 20, \) RTZEAHUKIIE X .

o WGR(t, x)ZRIMEXIR, I, = (a,8)@&Nal EEXE, 2

Dy : (t,ﬁ)EG, A€y
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o M2 Wf(t,w, \) FERILD\WES:, HXT(z, )WL
#BLipschitzZ . #Fx = ¢(t) TR —MELE e, b)) EHE X,
WIAEZES > 0, (ty, 20, o) IUZEX 8K

R: tyelab], |zo—9(to)+|A—Ao| <9

B, WHME R BRI ME— e = o(L, to, 2o, A) BDFE[a, b] EAE X,
It HAE Ak

Vy: te [a,b], tg € [a,b], |x0—¢(t0)‘+’)\—)\0| <4
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UEW] . BN R4

WA ) B R A = o(t, to, To, 1), b = A
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o EIR3 W f(t,x, )\ TED\WELE, HXT (2, VLR
#BLipschitzZ&fF. # (1) Iz = o(t,t0,To, \)TE[a, b] LB & X, W
H(to, z0) H(t0,T0)» N BARSAFEIER, Bz = o(t,to, z0, VBE
DtEla,b) LR R X, FHHXt € [a, b —BUHLER AL

lim gO(t,to,:Eo,)\) = gO(t,fo,fo,X).
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o 4 Bf(t,x, VEED\NES:, HXTF(z, LR
#BLipschitzZtF. WTTRRA MM = o(t, to, mo, \)VE AL, to, 10, A
BR BUTE B I A7 A V0 R A R S S 11

o HME—:, AN YEINS B ES MK

o A PRI [F] ¥y S AR K, TG 55 DX 1) Ay A e

o fEMk: P112: 1 (2, 4), 2 (1), 4
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